vl 115> 411
Fmance & Accounting

XFREZEF—XEES
TA B HITHEDERIERN

T

W EmAsAS—KKE
VM, AT EEASIATBR

L ENAFTHLAR K BUR
’i /\EF"/}\
KR kMR BLEAS—KKE

LB ERGAM EE—F T

R MPTIERL

B G, MBTEHA R EERY R &, 1225k
EHE B — R RN T I T %o

A2 & At

—. £F

RE

—RMEREBERN

ATRT oAt E, BRAAS
LA EF—RMEEE, 2 A REHL
R R A 2 A AT R A2 R b
BEWEF—RERE, SAHAL AR
R, T, h T HA R 6 AN AR
AL, TM%J S YA RN
PR, T'ARLEHIFFTREANE
R A FLEE, N A £ TiF “I’E
EARR AFG LB, r HE
HLE, QA ER AR ek, ;Fi
F 9% 4 3 500 o

SHKEBREFIEH LN
MBLITIF ) IR R 12H A &
BREMGEF—RBEREA, KRG
BARNA X a=A-T=A-(AX1-q),
REBRAREHEF—RBEEZLY
LR, #lde, % S-3500=4 500 B, A=
4 500X 12=54 000,a=A-(A Xr-q)=
54 000-54 000X 10%+105=48 705
(L), &R IAEL

. BEsE—
i‘l‘%d}ﬁs‘ﬁ‘]x:

(=) it 2 A5

RERENTH

B a=A-T=A-(AXr-q), T4 :a

=A(l-n)+q , FHAARANLZE LR R #
Bk R, B Ea=f(A) £ A LA B
A 1T

WEALTTIL, ASadixb g X2 F
BAE—M, %aft (16 305,17 460].
(43 755,48 705]. (82 005,86 955]
(296 755,316 005]+ (434 505,464 755]+
(541 505,629 505] AANK B, AR
A T A A+ 16 305=18 000
- (18 000 % 10%-105) ,17 460=18 000-
18 000 X 3% ; 43 755=54 000- (54 000
X 20%-555) , 48 705=54 000- (54 000
X10%-105) , 34 X 1) £ T FRagat 3
Bl Lo

BB ALE R, Ha € [16 305,
17 460] BF, *F & Bh & & 09 £ 1 4,
BE A% miEBas AN X A
I AAFE TR, Ha € [16 305,
17 460] 0, B4, s B 69 B 2 H &
TR, 2RNAFIBEFRLTRE
2%, Bp AL R T A8 A 3% R 10%. ik
Aotk T H0HR105. & F A4
T=A-a#y X &, B LXK %A
FLER T 4 R EA E—

(=) Tﬁﬁfﬁf‘/\ﬁ"//\
A ANBTAFHL I H I ok

£ &

A bk XA R HLE 2 F— K
MR EANANPTAFHLE R T — B
85 A, L AH R ERR LA E
B EFERT (BRES AR
KT % R otk AFfE)

1. % aRB T Lk~ A KB at

— %, HaRABE L E RS
YSRRE RS R R Ly 7

# =, Frn g RAMK, R
fEANAFTAFBLER © T=(ar -q,)/(1-1)o

2. % a kT LS AR RET

F—F, FaRAFLF RE &K
Bty 5 BB T BA KA H AR B
afor q, Ar1,q,;

# =Y, B g RALXK, K
A AP AFHAR - T, = (ar-q,) / (1-

) ;

a~>1‘1,q1 5

g, ALK, K
T,= (ar,-q,) / (1-

Fwy, EHRNEHAL, AR
T, T,8 E# . 5 ok T4
LI!(%%@]\ BARAN AL G BRI, 4k
&G BAF L, R RANAIE Lo
BT, TRBEMNE T AR M
BLHTAT R o

(=) "%k £ 24 5 42 bt 2t

2017 04 - W% 5%t 61



NEZ(E

Finance & Accounting

WM& it

NS

1.5 A TH KT %A o Asf ot
3 5 R KL F
Bk 18350051 q (BERAELITR
FEMEL) ;2 +T 5 q, (BRI
&Eeg e EEL)

%=, AR ORE  T=
(S-3 500) Xr-q,+ (a'+T") Xr -
qz—T1o

2.5 A TF T 5% A de AR A B

¥, TR 225 FBEME
PR 2+ TI+S-3 500 5 1,q (& 3 47
Tt ReMER) ;

% =%, i E AR R T=
(a'+T,+8-3 500) X 1-q-T',

(w) % &R ks i 2H
57 it AN APTARHL I E

B FOSN<1, Ma<a <A,
Mo 2 g A% ) fide e —okok 3
2 0f, E#RSARKE S KA (16 305,
18 000). (43 755,54 000). (82 005,
108 000)+ (296 755,420 000) (434 505,
660 000) . (541 505,960 000) .

1.5 A TH KT %A e ks ot

(1) SHELeMEHRLETLE
AN R BT

%—¥, TR

F—F, TH

3 5 R KL F
Bk 083 500%r q (B ERARIRF
Frabik) ;aBr,q, (& AR
HEERER)

BT, AR ABLE T
(8-3 500) Xr-q,+ (a'r,-q,) / (1-Nr,)
XN,

EE D BEEARTYGMAA
B 4% 69 3% 4 = (a'r,q,) / (1-Nr,)
XN,

(2) SHE R EHFHET LR
SAR B, T HEIERME & F—
Kkde (=) Fa ik,

2% A TR T 3% A de i Av g Bt

(1) SBELeMEHRLETLE
AR B

62 & 541t - 2017 04

=1

S —RUE BN FR

EE-RMRENMFAET ERERENNHFASE

BH

(BFEIE) (BAL : TT)

(FEBRE) (B : L)

1 FA2 i 18 000 AL 17 460 #9 3% 0

2 A2 18000 £ 54 000 4923R %5~ | &L 17 460 £ 48 705 4937 5 10% 105

3 #21E 54 000 £ 108 000 89 3f 4 | AB L 48705 & 86 955 #9325 20% 555

4 | AL 108 000 £ 420 000 493R % | A2 iE 86 955 £ 316 005 493R 5 25% 1005

5 | AL 420 000 & 660 000 #93( 5 | ABTL 316 005 £ 464 755 49374 |  30% 2755

6 [ AL 660 000 F 960 000 #93( 5~ | AB L 464 755 £ 629 505 4937 % | 35% 5505

7 #2313 960 000 4932 #8 3% 629 505 LAY ER o 45% 13 505
1
A 1
1 a=A '
1
1
a |
1
1 1
1 1
1 1
1 1

i i a=A(1-r)+q

i i
629 505 ' :
541 505 !
1
464 755 !
434 505 :
316 005 H
296 755 h
1
1
1
|
86 955 |
82 005 :
48705 '
43755 1
17 460 1

16 305 i R

18 000 54 000 108 000 420 000 660 000 960 000

FE1

F—F, TH ReEHFRME  RERREAI105;

D2'+8-3500%r,q (B&RED) ;
% = &, i H b m ey B
T=[(a'+S-3 500) t-q]/ (1-Nr)

(2) /6 R AP 130 EF L&k
SAR A, ARG A5 —
KA (=) PR IE,

Blde  FEAFENK, T 2016
F2LAMBALE A TH4600T, R
R LEEARASREE RIS
3 £ 36 000 4, B3 A KK
HF R AL 0% W] 23 L
R AN AP AFHLR T g A2 de T

F =, RAE TR R MR
F A 3%, %3 p R E A 10%,

2Bk

F =¥, RH & T=(4600-
3 500) X 3%+ (36 000X 10%-105) /
(1-60% X 10%) =3 751.09 () -

Ed ) B45 A IR TG AN AT
FHLE9 R 5 = (a'r-q) / (1-Nr) XN=
2230.85(L). R A F %, M
T AT T BREEME R
W ROHE F R 4 BT AR AL B A R AR AR
EAH. 3

(AR 30 Z9 7 48 BT OB £ 0 52 3T
SAITUE i b 772 o T 75 o504 1 o i 5 0 o
5—3” <172400410621> HI ¥ BEPE %R )

(A SR B ERERE )

TERE EE



	关于税后全年一次性奖金个人所得税计算办法的探讨



